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®)10.2kg = 6 = kg

6‘10.2 k g

©1351kg+l4=] g

K 9 x1000 = g
14|13.51 k g

Sifir 14
1x14=14
2x14=28
_— 3x14=42
4x14 =56
5x14=70
6x14=84
T 7x14=98
8x14=112
9x14=126
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@) 73 kg + 50 = g
7%kg = . k g

| K 9 x1000 = 9
5 0| . k g

Sifir 50

1x50=50
2x50=100
3x50=150
4 x50=200
5x50 =250
6 x 50 =300
7 x50 = 350
8 x 50 =400
9 x50 =450

@) 21.1kg + 10 = g
21.lkg+10 = . K g
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®) 362 kg + 100 = 1 kg

B62kg ks

k|ig|+|1]|00 |= : k g

@ 68kg+1000=" g
68kg+1000- k |9

®95kg+1000=[11g

klg|+|1]0/00 |= . k g

By : Cikgu Ashikin
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